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AR b S O 1 () 33 28.7
Z DAl 6 52
aaf 115 100.0
20164EE (#4E3) 1B FHRKR
FATIR L [ %
FAHEAT 51 28 24.3
FITASAT B 85 73.9
R ATERE N T 51 2 1.7
&t 115 100.0
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20164EF (#4E1) FERME ETHHH

AR
LR LBV e eamvomnne | s ne Zoit T (RIS
LTI [ES % EN % ES % ES % ES %
1 GHEOEARH) 1 1.4 0 0.0 2 1.1 3 8.1 0 0.0
1AM 25| 352 3 6.7 6 33 14| 378 0 0.0
1 B 30 423 14 311 109|592 9 243 0 0.0
ANEE - 1T 56 78.9 17 37.8 117 63.6 26 70.3 0 0.0
I AR 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
A 5 7.0 0 0.0 3 1.6 2 54 0 0.0
11 B 3 42 3 6.7 16 8.7 1 2.7 0 0.0
i e ] 8 11.3 3 6.7 19 10.3 3 8.1 0 0.0
MY (A JEAR ) 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
A 0 0.0 0 0.0 4 2.2 1 2.7 0 0.0
B 2 2.8 2 44 9 4.9 1 2.7 0 0.0
My 2 2.8 4 8.9 3 1.6 2 5.4 1| 100.0
NG - T 4 5.6 6 133 16 8.7 4 10.8 1| 1000
|\ CivE RN 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
VA 1 1.4 1 22 2 1.1 0 0.0 0 0.0
VB 2 2.8 18 40.0 30 16.3 4 10.8 0 0.0
ANEE - VI 3 4.2 19| 422 32 17.4 4 10.8 0 0.0
aik 71| 100.0 45| 100.0 184 100.0 37| 100.0 1| 1000
20164FFE (#4E2) FEAME ARNE
AT 7 BN TR | A1k T PR P SV i P A O AR (BRECE )
IS Bk % [GES % [ES % LIE:S % [ES %
Tl () 59 83.1 21 46.7 71 38.6 22 59.5 0 0.0
FHiHbFRE 4 5.6 16 35.6 101 54.9 15 40.5 0 0.0
Flr BRI 1 1.4 0 0.0 0 0.0 0 0.0 0 0.0
Fhi+AR L E URRE 6 8.5 1 2.2 0 0.0 0 0.0 0 0.0
s (B 0 0.0 4 8.9 4 2.2 0 0.0 0 0.0
TR () 0 0 0 0.0 1 0.5 0 0.0 0 0.0
DAt 1 1.4 3 6.7 7 3.8 0 0.0 1 100.0
aat 71 100.0 45 100.0 184 100.0 37 100.0 1 100.0
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20164 (#34F1) FERAE ARBELTRLH

AT LES % oI LES %
[E] 31 75.6 [ 110 (RS HEAH) 2 4.9
1AM 10 24.4
1 B 11 26.8
1CHl 8 19.5
1 4 9.8 [ 1Y (53 HAH) 1 2.4
A 1 24
11 B 2 4.9
I 441 4 9.8|IM3Y1 (i 4y A H) 0 0.0
A 0 0.0
1B 1 24
HCy 3 7.3
Vi) 2 4.9 [IVH] (5P ARH) 0 0.0
VALY 0 0.0
VB 2 4.9
i 41 100.0 i 41 100.0

20164FE (#4F2) FEIRAME ARAE

FEVASS [ES %

ERUNCEY) 30 73.2
TRk 8 19.5
T BRI 1 2.4
T+ [ 27 B 0 0.0
T+ LB PR E 1 24
Fifi+or FAERIRTR 0 0.0
T +Zofth 0 0.0
AL gk (BAh) 0 0.0
O (Bm) 0 0.0
RV b B 1 () 0 0.0
ALEPRE (B 0 0.0
53 FRRRY IR (Hih) 0 0.0
T DA 1 2.4

&k 41 100.0
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20164EFE (#4451) RAFMK-MEME PSTT-ETT-FHMEE BDWEHSE

2t E:S %
RARKAE (RAATR) 16 12.0%
kR 16 12.0%
PSTT (WAl Nk 7 5 A M) 1 0.8%
ETT LR 7 Z A MESE) 1 0.8%
FF AR HhCGIEREE (A ) 18 13.5%
BRI RAT I (REMZITA 27 0~4,0) 73 54.9%
FELPR R B (B2 T A= 75800 1) 8 6.0%
At 133 100.0%,
201645 BAFH-MER-PSTT-ETT-HHRMERE ZWHRHE
73
16 16 18
. 1
b g "é*%% 1-\’@w 1_\’@’% ?f@ o #
}%)Q@ j’) :)’) sﬁ,\%\ /)’?
% &8 oF ﬂg& &
@& 5 & s & S sl
‘ 4\\3@ <&Q;%5' 28 Qg&*&k y o
o aﬁ‘@
& @

20164 (#4E2) 20165 E BRAFK-HMEE-PSTT-ETT-HHEEE ETHIH

Wit [ES %
] 81 60.9%
1 9 6.8%
Vi 2 1.5%
[ 41 30.8%
At 133 100.0%

20164 (#4E3) 20165 E BAFK-BEE-PSTT-ETT-HHMEE FIGORIT RN

24 [IES %
Low risk (0~6.5) 101 75.9%
High risk (7524 1-) 30 22.6%
ZOfh (PSTT-ETT) 2 1.5%
Xl 133 100.0%|
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